AS-10: PROPERTY, PLANT & EQUIPMENT

4 ¥ ¥
Me Rd.lU Rl'-h:]a\\‘h'af\ Crieria 505..:!‘.7»(-‘\1' Costs
Tangibte thms that are lost oS¢ Tiagnisen o8 asser J * Doy 1o day Suviu
# hegd dor uSe in ;.mv;( Supps { ¢ Futvre Ewasmic &Uq, AL flow Desceri ded oo RANGp:
:nrd/ QBTN P wr%.su &4 C’J..H- Can b I?M..""k{r measvurecl R.Luj - ; .
# enpedtta use 2 | ge * Repacementr arty
A P J Y NaK : M{\] be qppbarﬁw!t “+o » g '\7 -2
(f‘% t’- L,UVE-L~J0' 6&‘3/ Eﬂ"'RC!‘Oﬂ) O‘&TK Rh .f-fdl.v.‘.duej;lr b"(‘t?&"f Nti\\; ?ﬁﬁ'
Non ﬂP}&:Co\Q}A;? .'Mjl\?icmf- g | an Rao m‘&t:j
{ : CrhRa. me-
»L. . L ‘SPGN. Pd.ﬁi/df&notjEj-/ tSC‘denJ 6, & R{Jhlw H’J"'jm}”"ﬁm"
Naﬂ\g: BoLogic ol assess (th‘hu BJ;J\II";:N\\'T 7re mu-] f‘_’-\—-j
othu™Mhaa es N . -
# 2 [3 . R cwamaise
Vo hunt s g e Rl

Bearer Plont:

is a plant that

(2) is used in the production or supply of agricultural produce;

(b) is expected to bear produce for more than a period of 12 months; and

(c) has a remote likelihood of being sold as agricultural produce, except for incidental scrap sales.
This AS applies to bearer plants but it does not apply to the produce on bearer plants

The following are not Bearer Plants:

(a) Plants cultivated to be harvested as Agricultural produce

Example: Trees grown for use as lumber

(b) Plants cultivated o produce Agricultural produce when there is more than a remote likelihood that the
entity will also harvest and sell the plant as agricultural produce, other than as incidental scrap sales
Example: Trees which are cultivated both for their fruit and their lumber

(c) Annual crops

Example: Maize and wheat

Copyright of these notes is with CA. Nitin Goel (IQ Education Worldwide). Contact: 9915005021, 9988451199




M cmurcmtﬂf-j 7rE

_]:‘.ﬁ-f Reogntfion
(Cost H?aa)
N 4
Direct Turchase 61.3 (onsiruked

Porchose Pace
4+ Nona R:ru-ldnu'_ Toea
+ Nreoty Atteourenee coses

Lnterns. ’"’m’“ eLminared

JE! el Cases

(F“':la NP :50)

Yaloue - SL/ “C wee. is more
(eart
v

e olenr

3 .
Mt, veat K U':an’”‘
\

\ Choose Eifrar J
(osr Model RLV&.Luu?\'M Modul,
ﬁpﬁa 1o Entive class o PPE

(ﬁ“t\"&j Simetar Nafure QU-"J

Rt\"&kuqrion Fn?ug

( ite Pﬂf" Ihs Forgas ) D\j e . N B
Professioned " Totex Peyment - Coah Price Si & \'f tant { Velapte _1;,3\1] n\,-f_.cw
% b(h\r i \reu -rtsr“ h‘“) thﬂ Al e J‘m,“.’_ CHGJ&: in FV v
MNiSSionla M, Rtsinmm-. 4 Uk ;_) Bichasye AL Trttrved
(x] Mealurea ot Faim vatut oaess IS, y et
Gasr{r 0‘,“, Ak \]. Gt ¥ Trans” Qocks Gommertiot Gudstorce
'k a’ ¢ Fv.
Cos+ Y not MCasyraate
j‘r";"d u:} Neis pesducr Measorea of ca,r\? J Amr: ‘7- me,_me
1 m-|
ﬂ g{a “:. 3) Gonsotidated Arice:
Imﬁ.& ?t’ﬂhﬂ LJM APPQ',""’"&& 01 Foir velue Hea's
Ex:1 Acyvire Cf; =~ ey Aczuln, Guve
— OLol. PAM Ewg Sharey T
\f X & .
(Fv:|° M7= 3s) ( K velve = d0o300)
No- looeg Vel = A0dym
VG-QUC - l&m Ado; ‘3°°m 6‘. g
g Atau, ‘
Buid Acyuire Give —L it
e New PAn Et)u:\l] Shurty Cav X Cory
(Fev et V=P Gt (Fr=7y
'y
vt = "Nmm)) (umfw = (Bok e - 68voca)
ITese s,y Legks
— Q 1
Voloe = ]"OQM Subsromee merul
&:1 Atzgirf_ c}w.; Vdu‘e_ e 68%
— Nice Rkt E*)w\?.jhuu
: mpen
(Fo.-v velue = Lf%w)‘ (q'n. : P \r

Copyright of these notes is with CA. Nitin Goel (IQ Education Worldwide). Contact: 9915005021, 9988451199




Revoluotian ! Aaaunﬁv Treatment

¥ 3
Fivst Revatvation Svssyuenrr Ruvaruafion
J:-__"'__"_L—l (Dtlomq,,J
T+ Use Tack LSL
Upwafol. Downwary & 2 Rl s 2 Rls
Use Revatoation Surpeus Use Pac Ale €L ParL < PaL
(Rs) ‘ T R|s L Rls Athen PAL
4 Metthoo | : v PaL "~ FaL £ +nen RIS
?rof)arﬁ.oqan TJntreade in 5T (olt A Au‘ac/:.
Asser —me.\va ﬂ Rev -;Tu\-ftu.f 7o Revawn Besuve
To Act olefe U -
" T Rw “Suvptos hv::). UMJ asfet  Nhen asser bs d{"‘:r;‘“*
4 eThod o !
bl o oo Jo
Ace. dtf?' IS eliminatfed £ BM%NUJ-. Cos+ m My de 'U"" a3 Mhote deu: ig
Ace. dep- ht})'(on Revatvtd. Ami) TG e e,
Asser - 5'{5' (o O'UF'\-& Gost)
To Rev -Surptag

OYI'{]'MJ Coat = S350
Revefoed o+ Foloaeg

AcL- D vntu'uh':n = 10290

Mo 1 ﬁ’cf?rc. Rev- Lncreeae Al ter Rev-
Goar S5oovg Ui &g Asser  Yooame
Bssiicns. Te Acc: Svono
¢ (I%m) (8oow) (lﬁ‘Oaaj -; Rtmr.
Ner | 8ux S
/ e Y5030 3da00e Fl v
R
Acc. b(jb‘-bv 1O%0my _ A((_.Qg‘:_ looony
DOy
To Rey. §ur - Sc’am Asger Sdogey

7o Re- 6uvf:-(us 3@000

Copyright of these notes is with CA. Nitin Goel (IQ Education Worldwide). Contact: 9915005021, 9988451199




h e-”YC(.; ohon

Hem'.;: SJthmam. o.u-aca.ﬁond d(./)ﬂ.dm&,g_ amwm-\of asstr oven M w\'/uL ffc |
(ompantnt Methok : Each /)cvf\uf PPE heris i f\\i/lcan* m relahin to totel w*"\"f s
: Showldt 5 deprediata Stparatiy Eq: Airprame § Ey-‘nc\y e

Depreciadbes Anvont : Cos+/ Rivalued Amt- — Resiovat Yatue
fenoot ¢ ?t.\"'\buk dvea whith asser (KP(_,_“,( To He Lded

Usgwu.'-l(_ : On Basis
Dn Bagis Unixs ¢ N°'\7 vniry <V«/:<cﬂ¢ 70 8¢ obtained
(Dmmm((mmf‘-‘ Nhen oSSet 1A Qva;iaytJov use.
ASsirs Reviaoel valve 2 ca’\']i’, Amdunt
A Se A huet for dispast.

Cessasion tf dep -
< @Ear Liu * ASict yefived r,w,
\j ¥ Asser i o&cm\?ntsul.
Methoo T depregarion
Muthod. 3 houlel tc\.r&a- The f.mﬂtrn in ‘\?h"‘-hJ\ﬂU'& Conomic 5'04% are Qy(acdta{

1 be C.on..&om:.oktr entLrpnie

v b = |
Jﬁﬁ;z:t Line [\ m.m.'_&h'.na &Qwu_/ Vaits Rrod.vcion
MZThoo MDYV Method gl

Review \Gf l)!.,:. Method ¢ Cha:?t in Achﬂﬂf\\? EsHmoate (Pros/t:gd-;.,,_ E\Ueu)

RMuJJ Resicluel veue 4 usj...{_ "::f“ CHQ\,\}Q 7 A{r.:]' Eshmatc (?m}mﬁ«e. Edfm)

Chaage in Histoncal Gost : (st may Yacewgo SubSequent Changts dve 70 Cuthaye Rak
d’{u;_foo.ﬁsfu F Prce ﬁa\lfmﬁﬂmf‘d, Change in Duhes, ek.
(Im.twu..t A Coa-!—\or Asser — ?Y‘Nﬁm'VL Edff(.f)

Laad 4 Bui-toun\'a : JLfmra.':.lc AdSthS A atouakd égfaam-f ven whea acguired 'f\o\rmu
No Sinte Vnlimiead U&\'f....e__ —ﬁb

E__"‘"-‘E'f’-‘*‘i‘ ff Land hag Lot u.sJLL J&f.t,

Rtﬁvtmtni-: Asser Tbﬁfcukfﬁrn athive VS 4 ﬁuud‘m aL.'aPNe_L
Amt: oy NRv .

Load: Whether bt}:uduhﬂe

Reworawa ot Lo Corrvyi
E“\Pt:.ﬁd. Loty 4o be 'rrn-'n(du'o.ﬂ\lf R(G\B}nf&li

Dertwsqnhon : On bidlauc-l. \'ej 6‘2-!.;/ Aonalon k‘hrn no future 6:#2*4 Cubethan

——
Pofit [ toss on it 1o oc Freqfforrea 1o PA A

Copyright of these notes is with CA. Nitin Goel (IQ Education Worldwide). Contact: 9915005021, 9988451199




Neon Enterprise operates a major chain of restaurants located in different cities. The company has
acquired a new restaurant located at Chandigarh. The new-restaurant requires significant renovation
expenditure. Management expects that the renovations will last for 3 months during which the restaurant
will be closed. Management has prepared the following budget for this period —
Salaries of the staff engaged in preparation of restaurant before its opening Rs. 7,50,000
Construction and remodelling cost of restaurant Rs. 30,00,000
Explain the treatment of these expenditures as per provisions of AS 10 "Property, Plant and Equipment".

Solution

As per provisions of AS 10, any cost directly attributable to bring the assets to the location and
conditions necessary for it to be capable of operating in the manner indicated by the management are
called directly attributable costs and would be included in the costs of an item of PPE.

Management of Neon Enterprise should capitalize the costs of construction and remodelling the
restaurant, because they are necessary to bring the restaurant to the condition necessary for it to be
capable of operating in the manner intended by management. The restaurant cannot be opened without
incurring the construction and remodelling expenditure amounting Rs. 30,00,000 and thus the
expenditure should be considered part of the asset.

However, the cost of salaries of staff engaged in preparation of restaurant Rs. 7,50,000 before its opening
are in the nature of operating expenditure that would be incurred if the restaurant was open and these
costs are not necessary to bring the restaurant to the conditions necessary for it to be capable of operating
in the manner intended by management. Hence, Rs. 7,50,000 should be expensed.

ABC Ltd. is installing a new plant at its production factory. It provides you the following information:

Cost of the plant (cost per supplier’s invoice plus taxes) 31,25,000
Estimated dismantling costs to be incurred after 5 years 2,50,000
Initial Operating losses before commercial production 3,75,000
Initial delivery and handling costs 1,85,000
Cost of site preparation 4,50,000
Consultants used for advice on the acquisition of the plant 6,50,000

Please advise ABC Ltd. on the costs that can be capitalised for plant in accordance with AS 10: Property,

Plant and Equipment.

Solution

According to AS 10 on Property, Plant and Equipment, the costs which will be capitalized by ABC Ltd.

are as follows:

Cost of the plant (cost per supplier’s invoice plus taxes) 31,25,000
Estimated dismantling costs to be incurred after 5 years 2,50,000
Initial delivery and handling costs 1,85,000
Cost of site preparation 4,50,000
Consultants used for advice on the acquisition of the plant 6,50,000

46,60,000

Note: Operating losses before commercial production amounting to Rs. 3,75,000 will not be capitalized
as per AS 10. They should be written off to the Statement of Profit and Loss in the period they are
incurred.

Shrishti Ltd. contracted with a supplier to purchase machinery which is to be installed in its Department
A in three months' time. Special foundations were required for the machinery which were to be prepared
within this supply lead time. The cost of the site preparation and laying foundations were Rs. 1,41,870.
These activities were supervised by a technician during the entire period, who is employed for this
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purpose of Rs. 45,000 per month. The technician's services were given by Department B to Department
A, which billed the services at Rs. 49,500 per month after adding 10% profit margin.

The machine was purchased at Rs. 1,58,34,000 inclusive of IGST @ 12% for which input credit is
available to Shrishti Ltd. Rs. 55,770 transportation charges were incurred to bring the machine to the
factory site. An Architect was appointed at a fee of Rs. 30,000 to supervise machinery installation at the
factory site.

Ascertain the amount at which the Machinery should be capitalized under AS 10 considering that IGST
credit is availed by the Shristhi Limited. Internally booked profits should be eliminated in arriving at the
cost of machine.

Solution

Particulars Amount
Purchase Price Given (158,34,000 x 100/112) 1,41,37,500
Add: Site Preparation Cost Given 1,41,870
Technician’s Salary Specific/ Attributable overheads 1.35.000

for 3 months (45,000 x3) e
Initial Delivery Cost Transportation 55,770
Professional Fees for Architect’s Fees 30,000
Installation
Total Cost of Asset 1,45,00,140

In the year 2019-20, an entity has acquired a new freehold building with a useful life of 25 years for Rs.
45,00,000. The entity desires to calculate the depreciation charge per annum using a straight line method.
It has identified the following components (with no residual value of lifts & fixtures at the end of their

useful life) as follows:

Component Useful life (Years) Cost
Land Infinite 10,00,000
Roof 25 5,00,000
Lifts 10 2,50,000
Fixtures 5 2,50,000
Remainder of building 25 25,00,000
45,00,000

(1) Calculate depreciation for the year 2019-20 as per componentization method.
(11) Also state the treatment, in case Roof requires replacement at the end of its useful life.

Solution
(i) Statement showing amount of depreciation as per Componentization Method
Component Depreciation = Cost / | Depreciation (p.a.)
Useful life

Land - Nil
Roof 5,00,000/25 20,000
Lifts 2,50,000/10 25,000
Fixtures 2,50,000/5 50,000
Remainder of building 25,00,000/25 1,00,000

1,95,000

(i1)) When the roof requires replacement at the end of its useful life, the carrying amount will be Nil. The

cost of replacing the roof should be recognised as a new component.
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B Ltd. owns an asset with an original cost of Rs. 2,00,000. On acquisition, management determined that
the useful life was 10 years and the residual value would be Rs. 20,000. The asset is now 8 years old, and
during this time there have been no revisions to the assessed residual value. At the end of year 8,
management has reviewed the useful life and residual value and has determined that the useful life can be
extended to 12 years in view of the maintenance program adopted by the company. As a result, the
residual value will reduce to Rs. 10,000. How would the above changes in estimates be made by B Ltd.?

Solution

The above changes in estimates would be effected in the following manner:

The asset has a carrying amount of Rs. 56,000 at the end of year 8 [Rs. 2,00,000 — Rs. 1,44,000] i.e.
Accumulated Depreciation.

Accumulated depreciation is calculated as

Depreciable amount {Cost less residual value} = Rs. 2,00,000 — Rs. 20,000 = Rs. 1,80,000.
Annual depreciation = Depreciable amount / Useful life = 1,80,000 / 10 = Rs. 18,000.
Accumulated depreciation = 18,000 X No. of years (8) = Rs. 1,44,000.

Revision of the useful life to 12 years results in a remaining useful life of 4 years (12 — 8).

The revised depreciable amount is Rs. 46,000. (56,000 — 10,000)

Thus, depreciation should be charged in future at Rs. 11,500 per annum (Rs. 46,000/4 years).
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